Vijayi Bhava | Vijaya Patha Model Test-57 Key Answers
PDO VAO Model Test-10 | Paper-1

1) "R’ worR" BOD B3 FINT TEPINTI), L.OO. 33 FENT 03I
TePINLD BOOTPNE 0T MDY (Read the following statements about

"Digital Arrest". Which of the following statements are correct?)

1) T BT WROT BTTZ BOWTLY B TEaTI), AN B[RTW
R0 OTTVOND WYAT BHF WY Tes 0gwoNds. (It is a new and
innovative tactic employed by cybercriminals to defraud gullible victims

and extort money.)

2) 35 BT 8 3B QoY wOWTW TR, 230 ATIEF TTWOOD, A
BROTIT TSR W0 WHTONTOZ [edv, FOY NOYET WTJTITNRTTY,
BRRTYT DO TOLVTWOT WTTTZY, DIOZWOT AR LRTT. (The modus
operandi in this cybercrime method is that fraudsters pose as law
enforcement officials such as police, Enforcement Directorate, CBI, among
others and manipulate them into believing that they have committed some

serious crime.)

3) 303 FOTHPFNTY, BTTZ, "RRLSS TRITY WORIIMTT" )
=T aﬂe@%ﬁ@émol m%mmdﬁ OTTNON ﬁw“ﬁ OB Q3T weROR
ﬁ%é?})@ﬂs TRETFFRRTFNTY NRESOTTOT ZeRICRMZH. (In certain

cases, the victims are “digitally arrested” and forced to stay visible over



Skype or other video conferencing platforms to the criminals until their

demands are met.)
a) 1 Only
b) 1 and 2 Only

c) 1 and 3 Only

d) 1, 2 and 3

2) Rat-Hole Redmod3n o200T BRANGT), T9y) 08 TR TY
SReEWIITR? (In which state we can see the issues related to Rat-Hole

Mining?)

a) Assam

b) Meghalaya

c) Arunachal Pradesh

d) Manipur

3) OpenAl S BRE Al SRTOONOTT, (OpenAl’s newest Al model is,)
a) GPT-20
b) GPT-30

¢) GPT-40



d) GPT-50

4) BINT O3 TeSTRHOLT WWTHT® WOTTZY @apa@%msm DB
QTELILD LTIY 10 BRENY 2.TOWY, B ©0833? (India signed a 10-year
agreement to develop and manage the Chabahar port with which of the

following country?)
a) Iran

b) Iraq

c) Israel

d) UAE

5) OBTRIT ToNOET F0HE BDOTOT 83 FINT 030 TePFOIN TOOIPNY.
(Which of the following statements about Uniform Civil Code is not

correct?)

a) AONTORT 44 Fe VHOIN B3 OB ATEF 3T AT (Article 44 of the

Constitution gives direction in this regard)

b) Resmd TtyEy) STOLILOTER DITRT ToNOE BOLIODNTY, WIIOALT.
(The State of Goa has been following the Uniform Civil Code since its

inception.)



) YVSTOOTW, MHWTIT® HTY FTFTNTY VWS 00N TORRD
SR (Legislation has been enacted to implement it in

Uttarakhand, Gujarat and Karnataka)

d) QT3 2WOCNOT FIPF HROTIN YIJTIONTT A’ TOORNED
3RJ03PNOE. (Its enactment will bring to an end civil acts which

discriminate on the basis of religion.)

6) “Snatch’ 02 ‘Clean and Jerk’ SITNREZ) 33 FENT 030 $eBEODY
2930RmdE8E? (The terms "Snatch” and "Clean and Jerk™ are used in which

of the following sports?)

a) 30 NE (Weight lifting)
b) ®A (Wrestling)

¢) Wogor (Boxing)

d) 29oes (Billiards)

7) AT LREE D00 TEOITNIT O FORS LBRTE ST L&,
Redr3edn” (CBFC) 20303 85 ¥NT 03008 Sewdodn BO03eNg. (Which
of the following statements about The Central Board of Film Certification

(CBFC) popularly known as the Censor Board is not correct.)



a) BOBWINT TFOTT, WIVTE B VI xoszommﬁ. (It is the apex

body that gives permission for the broadcast of films.)

b) T2 OTT HeRINTTR, ACLORT WIRF T WRTWT de@wend. (It has

supreme authority to regulate OTT platforms as well.)

c) Begs0 SPOA U, UA, A, S BEFEees® ne) BosWgneon 2emdzs

(Gives U, UA, A, S certificates to films based on audience)

d) TR UAT+, UAI3+ 302 UAL6+ 202 FWFQICRT LNNTI), Fe0OT
DBRT Do&TUINT. (A bill has been proposed to add the existing

certification types UA7+, UA13+ and UAI16+)

8) ST GT 1e00NT, BT TEAON ) TYAZHNE 306 D) TIIETY
GST mxmmgd? (How much GST is levied on online gaming, horse

racing and casinos?)
a) 5%
b) 12%
c) 18%

d) 28%

9) BIMSTEC %0305 85 39N3 0303 293030 F003RNe. (Which of the

following statements about BIMSTEC is NOT correct?)



a) BT 7 BeBNY ITHZ QB LOFTTHXOD FOFIFOIP®NT (It is an
international organization with membership of 7 countries It is an

international organization with membership of 7 countries)

b) BWIY TEEd DT, OB BN, 0N DTWT THFN ATHZ HROHE (It has

South Asian and Southeast Asian countries as members)

€) VT TRUEBF PFTIO FFRIOWTVT w0 wE/WTNS (It is a

military alliance concerned with regional security)

d) aTT 2oIZ Fe¥RODY) 2ROTRTEST @B YT (Its Permanent

Secretariat 1s at Dhaka, Bangladesh)

10) ‘Blue Economy’ «0%33, ("Blue Economy’ means,)

2) B8 BT FOX [RBHT PNFFD BT BBODE WD, (the

workers are those who perform manual labour come under this)

b) SRR GVTITION [TWeerTORN ((Methods of fish production)
¢) BT BSIAARR TnS TOTRRONE AT %% (Sustainable use of
ocean resources for economic growth)

d) QeTRTOCD TYFT 27} TONFRTLAFYI (Working on increase the

irrigation)



11) MRO2IRACID WLIZ® BOTT B3 TN CIWT HEYTOI FOOIPNY.
(Which of the following statements about Gambusia affinis is NOT

correct?)

a) QTR WOTD NEIT IYOIPNT, VWS ARY, W DOTH FTO3NTT. (It is

a fish species, also known as mosquitofish)

b) BRYoDd CRmOFNTREY, AONOGHLD AT, BT AODOFFeN
2930, (It is widely used as a biological agent for controlling

mosquito larvae.)

c) DSe00I? B céom% RNOTT mgﬁ@od BT TRENNTTY
BWODLD BOPTTICT Totgay) VWY, TOTT ROWRONST LITINT TR,
(Andhra Pradesh released this into the state’s water bodies to combat

mosquito—-borne diseases like malaria and dengue)

d) Bmh Ted TLOWNTR, WOTSPT® JERRT® QEINTY o&écagemﬁ
@?,,36535 (It is a desi variety and is widely available in Andaman and

Nicobar Islands)

12) 503839 5G Re3oDY, WBNAT BRTO 30T (First company to

provide 5G service in India)

a) Airtel

b) Reliance Jio



¢) BSNL

d) Vodafone India

13) go83Q HIV/AIDS 203083 TODINRE 20T 83 FYNT O30T
BB BOOIPNY. (Which of the following statements about HIV/AIDS

control measures in India is not correct?)

a) Do 0 DT @03) STD Q00 59030 (NACP) 1992 d0Bew
5@%&@%@7@7\6 (National AIDS and STD Control Program (NACP) has

been active since 1992)

b) Togeod 0T ©0Bogee FoF (NACO) HIV/AIDS 20D0Ze 590D 3303,
SEICWL STV 2.BNRET. (National AIDS Control Organization (NACO)

provides leadership to HIV/AIDS control programme.)

€) DWND LERION FTF T3 EBRITDRE SOLTLRITS (DBT D)
BRONTI, wveszzn AewTB. (The government provides free antiretroviral

(ARV) drugs for life to people living with HIV.)

d) S OWF® Fuf NYY DN WeRIOR 883 derderv e (HIV

affected persons are being treated in Red Ribbon Clubs)

14) 0 e300 To2d WD 2.8), (Alluri Sitarama Raju was a,)

a) o3¢QT3 (Philosopher)



b) 30 (Poet)
c) mdéogs BRIy (Freedom fighter)

d) 3oNeenetdd (Musician)

15) %OTR HoNFE NOBPNRY BDOTIT 88 FYNT 03T TePFCIND FOOINY
(Which of the following statements about Hindu religious scriptures is not

correct?)
a) DOmPORETY 7 TORNTI) BROHT (Ramayana consists of 7 Kandas)

b) ®TOEPTBRY) 18 TIFNYTY, we¥NRORTI (Mahabharata consists of 18

Parvas)

c) PNTEESOIN 18 WTRODPNTI), L¥nPoRT (Bhagavad Gita consists of 18

chapters)

d) 2ty 1028 wOZIHRDNRYS (There are total 1028 Upanishads)

16) Do), B0 BTEOT T LI LOW BH AT AREPEIT
TR0 C30Y? (Which is the law that prohibits four or more people

from joining together?)
a) IPC Section 144

b) CrPC Section 144



c) KP Act Section 144

d) COCA Section 144

17) &0T[oRE 03RZ0D B0 88 FINT 0309w TePFTOIW FO0IPNY (Which

of the following statements about Amarnath Yatra is NOT correct?)

a) QT OB TTWeTW % 0B 594eTTY IR (It takes

place in the Union Territory of Jammu and Kashmir)

b) QR TRBRETRTTIL B ABSRIONY md@\%m%sds (All age group

persons can participate in this Yatra)

C) TBHOYRT T LR’ PTW [RNFNPOT 030, IEOINTT (The Yatra

will take place from two routes, Pahalgam and Baltal)

d) 85 AR WVWIDTI), BRT', WY, SNF, NTYY [T ATSIT

(Opportunity for this Yatra is given only in June, July, August)

18) 'Bastille Day’ 035033 T3¢3T T308D 5305 030NT. 9 ‘Bastille Day’ is an

important celebration of which country?)
a) United States
b) United Kingdom

¢) Germany



d) France

19) 'Beer BT BOTT 85 FINT 030 TePFOIN BOOIPNY (Which of

the following statements about ’cloud seeding’ is NOT correct?)

a) BT WIZOI 3TF TN FARLD 2,00 030D TIWBIT
TRITE B F0ZomwoNT. (Cloud seeding is a kind of a weather

modification technology to create artificial rainfall.)

b) TRIFTTY TR, SREAV YYTWE VWNOR QT
TOBFATT LS. (It works even when there are not enough clouds

in the atmosphere.)

c) TR LTONNYTY, WIRPT T DTIINET) IR - SRYODE
BEOMYRY, RREBRPT FeOR| TR LHoINd (Using large cannons and

Using airplanes — Two ways of adding nuclei particles to clouds)

d) AT RBRCTET, B VT, TRLRACHRT BOIRFH, TRTET', 53D000
TOLHF T, WVREIODNO Fedees", RRCRONO 3R, CRPOCIP FOKINT
BTN 33 8 TYTOODIFNYIY, VAT WITONY WHRLMHIT. (Silver
iodide, dry ice, Potassium lodide, Propane, Calcium Carbide, Ammonium
Nitrate, Sodium Chloride, Urea compound: Mainly these 8 Chemicals are

used in Cloud seeding)



20) 0TS0 ToRTON %ﬁﬂ@oﬁa@ QT AR 9QPTOT QVRW, (The

Indian legislative system, the power to grant whips resides in,)

a) To3CO wﬁﬁ% @oﬁ.@cz&z}d—m@s QT WHTT BROJTES 553:‘563
(Members appointed by political parties—with the power of Chief

Whip)

b) 803® ATIT LTREG TTI Fo0DTTY (Leaders of Opposition in the

respective Houses)

c) SOIP FITIT EFT” WPeo ¢3e0° W (Speaker or Chairman of the

respective House)

d) ©03» FITIT To0DNI (Leaders of respective Houses)

21) 03T FOF) TN ,‘%@;mﬂ ROTIT 83 FPNT O30T TJEPTOIN

A003NY (Which of the following statements about some important places

in India is NOT correct)

a) gROIBY wryF TOeE STBRT Y : CIWIYTT IYC” RYod FeeaRnS

=7

(Location of nuclear test in India: Pokhran, Jaisalmer district, Rajasthan)

b) PTETY ;%Awsa? TOT ITWRO 5@%’3 : RTOT LIRCVARET” BGOH LN
{@pe) %@5 (Missile Test Site in India: Abdul Kalam Island in Balasore

District, Odisha)



¢) ISRO & so%0° sotdpee® PO :’ée;’ﬁ% ! RN W %dmmw@
(Master Control Facility Locations of ISRO : Hassan and
Hyderabad)

d) tRTITY NWTINAT YD SEAWST F : SOTTTEIT ST 23GoD
dez03wee (Place of satellite launch in India : Sriharikota, Tirupati

District, Andhra Pradesh)

22) BIoFWBT GFPRRCYTIOD BOTIT B3 FENT 03508 HePFTOIND FOOIPNY
(Which of the following statements about the geography of Karnataka is

not correct?)
a) TIVFUTT IO 6 Uaz%n’@d (There are 6 states around Karnataka)

b) FIVFEITY WFPOTT WIVAT FOTHEF YVF BOONTY 2TITI

(Karnataka falls entirely in the torrid zone as per latitude)

c) SRT BN BT FTIBPODY BROVE (Only three districts have

coastline)

d) & BGRYY g SR TReBTRY, FrowTO (Malnad region

can be found only in six districts)



23) p03mO0de B TR DO FLOD FTAIINTTY, BLONT
To%/FeOTRREE TT3e3EOwT, (The state/union territory with the least

number of Legislative Assembly members in India is)
a) Delhi

b) Puduchchery

¢) Sikkim

d) Goa

24) t0ITYT OBING TOWT® FetF® B 2$T BOTT B FENT 030
30& &S00 FOOINY (Which of the following information about vehicle

number plates and usage in India is INCORRECT?)
a) White number plates with black letters — Private Vehicle
b) Yellow number plates with black letters — Commercial Vehicle

c) Green number plates with White letters — Electric Vehicle

d) Number plate with upward-pointing arrow — President/Governors

Vehicle



25. BWYeBRN0DT" ROPOID — TY FORWTFD. (Meibomian gland is
)

found in

a) 3 (Ear)
b) =owend (Nose)
¢) BF (Skin)

d) 8%y (Eye)

26. 3REOT BRTR) T, RN $E? (What happens to the weight of

Iron, when it rusts?)

a) %aagrb@d: (Increases)

b) 3BRIDCTMOFT (Decreases)

) Torode eVP)O (Remains the Same)

d) @3%3 (Uncertain)

27. TeRT 0350 BONay) cSom%zsod %as‘% SeRBrdEs? (Which organ of

the body is affected by Dengue?)
a) X130 (Heart)
b) ZREReIN (Lungs)

c) WR8ox (Kidney)



d) g2 (Liver)

28. s@ReRRZT-NYY, FEpdE s oines T ded
TODNFARFERRERN? (In Automobiles, Hydraulic Brake is works on which

principle)

a) TOHO® AONITL (Pascal’s Law)

b) ©3EWRF 3 (Archimedes Principal)

c) SR, WOTOR oD (Newton’s Law of Motion)

d) 23pF9 B (Bernoulli’s Principal)

29. TVHRTY BOEWTDR TRENNST TRCDITT &&FONTY 83 FINT
030w B WEY 3%, (Which among the following diseases is very rare

in women as compared to its occurrence in men,)
a) BeXZY X (Myopia)

b) 3& %" (Kidney Stone)

¢) ¥, 83R00° (Brain Tumour)

d) Zeor @0 (Colour Blindness)



30. TEReBPET 0T, (What is Hydroponics,)

a) mgs WROR AT BHOT JRCITVOSNLOT BRNTY, WL

(growing plants in a water-based nutrient solution instead of soil)
b) 33 AF, (Grafting Plant)
¢) 3TTONY ©PODT (Study of Vegetables)

d) g WoTEE (Soil Conservation)

31. BNTFS (KOWDT?) MOEATVLIT/IY, Ten WFODMZTI? (The quality of

printer is measured in terms of)
a) Alphabet per strike
b) Words per Inch

c) Strike per Inch

d) Dots per Inch

32. TR0 AT 03B 3ZW [0S FONFITELROZT (The working

principle of a washing machine is:)

a) FeoTRTMON WBOR (Centrifugal motion)

b) FeotREND BT (Centripetal motion)

c) ORFE eﬁf@eﬁ’m“’ (Reverse osmosis)



d) ©xoee (Diffusion)

33. 35 BYNT TBeINYT), BOnedR: (Consider the following statements:)

1. 5%6330659 RE3O3RNTOTT B @5@@39 )TN, (Diamond is hard

and graphite is soft.)

2. BB WRTTNTOTT 0 @8?’&@3@ ne3o3pNTdEE (Diamond is soft and

graphite is hard)

3. W) 0B TROTT @5@—%@39 MR BTN (Diamond is a bad

conductor but graphite is a good conductor.)

4. C%?)DOC?“ MR F[ITFOTT @5%&?“ L0 FwoNT (Diamond is a good

conductor but graphite is a bad conductor.)

20eS QERT BEYINGY C3FT/BO03RNT? (Which of the statement(s)

given above is/are correct?)
a) 1 and 3

b) 2 and 3

c) 1 only

d) I and 4



34, BYNT O30T TR ) VEOTY FTNTN TODBIY DBIIRRYRST?
(Which one among the following substances release heat when dissolved in

water?)

a) SRLYACDNT Feders® (Potassium nitrate)
b) Fee@odo 3ReTT® (Sodium chloride)

C) ARCBONO Toedeer et (Sodium carbonate)

d) Oobo & iz (Calcium oxide)

35. 3UNTHNYE IR RO % FDFIoHY, BROHT? (Which of

the following has maximum bio-diversity?)
a) MR (Grassland)

b) B T3 (Polar Region)

c) IVTVLRN (Desert)

d) evgmooks Iwe3 (Tropical Region)

36. 3PN TJOXT %dﬂ@ﬂ@@ O3PYTN LR e ;0D TBRT TTETTIY
WPRORE? (Which one of the following ecosystems covers the largest

areca of the earth’s surface?)

a) WL JOXT Zg@%’gp (Desert Ecosystem)



b) TR TOXT ?gsd‘ﬁjp (Mountain Ecosystem)

¢) TNT JOXT :%357; (Marine Ecosystem)

d) DeReRe TORT BesF (Grassland Ecosystem)

37. 533 m@@a‘béﬁ 63333%@?\ QPR mﬁoﬁamol o308 (Identify the

language which is mainly used for Artificial Intelligence)
a) JAVA

b) Fortran

¢) Python

d) C++

38. 2,000 INTT 83350@360333 202139 2,00,000 25y, ©TH TS TR
BTBOSZOH Je.8TT), TUPTOIT. TMOWT & INTT RIFHOZ,030 20238
PR TET? (The population of a city is 2,00,000 in 2021, which increases
by 8% of the population every year. Then what will be the population of
that city in 20239)

a) 2,33,280

b) 2,32,000

¢) 2,32,280



d) 1,32,000

39) 10, 11,19, 46, 110, & 33303 30008 FHoad oimam? (10,

11, 19, 46, 110, —____ What is the next number in this series?)
a) 225
b) 235
c) 240

d) 265

40. 2,000 RTWTHBONY @&%@FO&@% 84% WINTI), TWD, 476 N
903TLOTI ﬁ@awo‘n& THATIT, & WBTVTHONY BWSROWAT 283 INY
50@% 2R? (If a candidate gets 84% of the votes in an election and wins
by a margin of 476 votes, what is the total number of votes cast in that

election?)
a) 672
b) 749
¢) 700

d) 848



4l. DT TRITQ Ty "HE' TP 30D STORT YVLeSDT/, TorTeS 9
TORTBY BRTBATRT (We find the earliest reference to the practice of

’sati’ in an Eran inscription it is Issued by)
a) I (The Guptas)
b) IFEIR (Vardhanas)
) RPONF (Mauryas)

d) o803 (Satavahanas)

42. 3NIPYRTY CIRTT AOFR TPROFIHTOR $9HTVY? (Which of the

following was not known to the Indus Civilization?)
a) 2OINY dWeEed (Construction of wells)
b) 3ZPIONE AW ed (Construction of arches)

¢) FoNnY A= (Construction of pillars)

d) 23008Nn¥ J=eed (Construction of drains)

43, FYNT O30 3@@5@ DA 0TORN Fow0HR? (Evidence of

swastika has been found at which of the following places?)
a) 0w (Harappa)

b) SrzoBecmedee (Mohenjo Daro)



¢) B3Rewete (Chanhodaro)

d) Pweoed (Dholavira)

44, FSAS fgj@% TIEBTONTR), DeI0TI :J:C)pé 90 ToORFNRRODN T

NPT FOOIRT YLITB/IY, BORT[IA (Select the correct answer from the

codes with the true status or functions of the following Vedic Gods)

A. T (Pushan)

l. ANFT T @ ARoRFS 30T (1. God of heaven

=)

and father of the sun)

B. mowg (Savitr)

2. TRODFT w0 (Mother of Sun)

C. =68 (Aditi)

3. 3¢3m exTe (Goddess of light)

D. Zodwa* (Dayas)

4 TR Temdd (God of marriage)

a) A-4 B-3 C-2 D-1

b) A-1 B-3 C-4 D-2

¢) A-2 B-1 C-3 D-4

d) A-3 B-2 C-4 D-l




45. FINTYNY=Y BRoOA Match the following

Teg-1 Bg-11

A. Jm%& (Amatyas) | L&SBFE 5000F @08 05 «0De3d ﬁsra‘% n&d (1.

Economic function and some military duties)

B. gege o (Tirthas) 2. 18 6-3%3_13 80300 @ne (2. 18 The highest class of
officials)

C. ©5g (President) 3. STYSTORF =0T T30S (Administration and
Justice)

D. @3 (Mahattaru) | 4. ©PFoRIEy 33 TTITY, W0 Q0WFFOY WIWIT

(Arthashastra uses this word to mean minister)

a) A-4 B-3 C-2 D-I
b) A-1 B-3 C-4 D-2
¢) A-2 B-3 C-4 D-1
d) A-3 B-2 C-4 D-I

46. TREIR WY TIoRY TWWES LRTTH W, VWETOITY BT
BHND. BB/ CIPT ToEOTT VRONY TJIHE [T, 220TTO? (Panini

and Patanjali are the renowned names in the literary history of ancient

India. Under which dynasty did they flourish?)
a) 30FL3PS (Pushyabhuthi)
b) BZ030 (Kushanas)

¢) oond> (Shungas)



d) T3 (The Guptas)

47. 300FROT w@adezgd de@m@ﬁd 27} 88 TYNT OIRT TePF FOONY?
(Which one of the following statement about Brihadeswara temple at

Tanjavur, is not correct?)

a) T30 0NF) BREYT mﬁgée@%@é 20T @dﬁ)@ VTOBTTHBOSRNE (The

temple is a splendid example of Chola architecture)

b) QT ToKTIE BT VFATI (It was built by emperor Rajaraja

chola)

¢) TETWOONTIY MFHEFI0T FBSRNT (The temple is constructed of

granite)

d) TR 53?4{3@&37? INWESTD meda’mﬁﬁ (The temple is a

monument dedicated to Lord Vishnu)

48. 23 ROT TEd ARD WBTR, IR BAYTY, 3T MTRAT T BRI
(The Delhi Sultan honored Jain saint Prabhu Suri by inviting him to his

court)
a) maecse NS® BPFOF (Muhammad bin Tughluq)
b) WOT (Bulban)

c) RTOTT® @& (Sikandar Ludhi)



d) v 09 (Allauddin Khilji)

49. Te3-1 o), TL-11 IROHNR BRODA W) FINT ERWTNYOT FOOIRT
ZTHI)), BO3)@™RA (Match List-1 with List-II and select the correct

answer from the codes given below)

Te-1 =e3-11
A. BR0-30FF T (Diwani-Mushtakhraj) | 1. &2e0f e 2 (Jalaluddin
Khilji)

B. T -0-=2d0T08r& (Diwan-i—Amirkohi) | 2. &8rerTe SxToeF

(Firozshah Tughlaq)

C. D3z —":;—339‘;'03‘ (Diwan—i—Khairat) 3. TIT OF By oT

(Muhammad bin Tughlaq)

D. Lo -g-=®g  (Diwan-i-Wakuf) 4. wermgbea D49 (Alauddin

(=]

Khilji)

a) A-4 B-3 C-2 D-1
b) A-1 B-3 C-4 D-2
¢) A-2 B-3 C-4 D-l

d) A-3 B-2 C-4 D-I

50. 3,3 16650 SDTOTIT T[0T OB &8 TENT BELTNTIY Ssfelatackl

(Consider the following statements about the Treaty of Purandharl665.)



1. 35328 35 BREEINTY 23 TRCENYY BRFTOON LT, (Shivaji

had to surrender 23 out of 35 forts to the Mughals.)

2. 538 I, WM JOLPIODZY WRTFST B3FT/EFODN RN FRLALD
2.QBROBN. (Shivaji agreed to send his son shambhaji in service of the

Mughal Emperor.)

3. B0z 5000 Py VBTN, (Sambhaji was granted a mansab of

5000.)

4. 2230T0T TOBOIRZOH TRONTY S:0R VAT FTIVOTT NLTT 00D
RPRTT. (Shivaji assisted the mughal commanders during the Bijapur

expeditions.)

20eDT O30T TePIN BOCINZNQ (Which of the above statements are

correct?)

a) 1 and 2
b) 1,2 and 3
c)land 4

d) 1,2, 3 and 4

51. 391 ATBORT FREFTNLOT 85 TINT FUING FOINT FOCOTTTIY
FOT& 000 (Find the correct chronological order of the following events

from the codes given below)



1. WOTRYTY QRTIFTBIY, TTRIPVAZT (Abolition of dual government

in Bengal)

2. 9OTRT" 8O (Treaty of Allahabad)
3. TR 3BT (Battle of Plassey)

4. ToO0RFD® 3TI (Battle of Wandiwash)
Codes:

a) 1,2,3,4

b) 2,3, 4, 1

¢) 3.4, 2, 1

d)4,1,3,2

52. B0YO IS FENT O3B BRHVEIITBY "Q-ToF, ;’ow%oé" OV
=
B8 0RCOCNS? (In which of the following session of Muslim League

"Two-Nation Theory" was propounded?)

a) COTNCTT WRRCST, 1940 (Lahore Session, 1940)
b) 259023 ©9QRe3I, 1915 (Bombay Session, 1915)

) BB 9HTEST, 1918 (Delhi Session, 1918)

d) 30z ©HReT, 1917 (Calcutta Session, 1917)



53. BYNTINYY CIPFT "EREEN FTJR'0H AWOFINYY 2.0TNTIYT
(Which among the following was not one of the provisions of the

"Communal Award"?)

@) DIFN wIMT JINENT FTHON AW FYINTI, S TFes
TTTTZY, ANQTRIRNT (Member of the depressed classes were

assigned reserved seats and separate electorates)
) WNRTON TS IO (Separate electorates for the Muslims)

R) O3NTRELODIZTO Y RO TFeT 0TS (Separate electorates for

the Europeans and the Sikhs)

d) g%cs THIRODL ReFRS ©FQ 10 TIFNen wognewSy (The

separate electorates were to lapse at the end of 10 years)

54. SPOFLRUT CRERFOIN T DTOD (The Mountbatten Plan

became the basis for)
a) QLT SYFOD [omBOF (Continuity of British rule)
b) ®HTOT Irer e (Transfer of power)

¢) Be3W NPwS (Partition of the country)

d) Bee=0 zm:‘gm 203 (Solution of communal problems)



55. YN WOV, TCODTZNTY QO 3T AR BT
ATOONOOT VW) YITHIRY, $0TPR (Put the following events in

chronological order and choose your answer with the help of given code)
a) WFPOST AT TT 033 (Formation of an interim Government)
b) AIEF W BT (The arrival of the Cabinet Mission)

c) W00 e FeT BRI, TWTOPAB (Muslim League Launches Direct

Action)

d) 23T dBR BRETIVZY, PORTMRPATD (Jinnah's wrecking of the Shimla

Conference)
Code

a) BDCA
b) DB C A
c)ABDC

dDBAC

56. @d@&% FOLWORATOZ FPNT 3= Hewd 309 (Which of the

following statements about solar system is correct?)

a) QR ABNSNOT PR® ¥ Td TommeNs. (Earth is densest of all

the planets.)



b) BRNCH TBEI0NYTT THes HoBd ADTT® (Silicon is the main
clement in the Earth’s structure)

c) BRODVFIY FPTRTT 3¢. 75 T[00d 9T, (Percentage of solar system
in Sun. 75 has mass.)

d) BRODFT YA RO AT 190 =ey) (The diameter of the sun is

190 times the diameter of the earth)

57. 3YNT DeYINTQY 03P R ? (Which of the following statements is
false?)

a) BTIIO BT T IY YONNRZT. (Mahanadi originates in
Chhattisgarh.)

b) RReTN0 $OBETRBRY VN SH. (Godavari originates in

Andhra Pradesh.)

¢) TR0 TDRFWBTY QUMeNROTT. (Kaveri originates in Karnataka.)

d) T8 DPTHBTY wonienAdIT. (Tapati originates in Madhya Pradesh.)

58. ¥YNT O30E ROF0H (Strait) @oém%eoja 0T Teadn ©Z03
RWeTIHT (Which of the following straits is closest to the International
Date Line?)

a) KDQ)%& xOR0H (Strait of Malacca)

b) 2300on® weZod (Bering Strait)

c) FReOT wwI0L (Florida Straits)

d) 2T BOROY (Strait of Gibraltar)



59. To0TET® LWL 8% TINT O30T A"é@édg 30T TBTI? (The Shompen
tribe is found in which of the following places?)

a) DeONO 3Lned (Nilgiri hills)

b) ddpeec® QeInsd (Nicobar Islands)

c) 2 Bed:3 (Spiti valley)

d) ©30ew Qewnisd (Lakshadweep Islands)

60. FRTFED DI PT NENY ISWH QTS 3353%3568’)3 (What is the
difference between a comet and an asteroid?)

1. HTATRD T PT 2CNRTBRAYITT, B 33N &S Tone Srew
TTRHPFNPOT LORIVL BT NEIT WIVNYOT TWZNTS. (Asteroids
are fissile rocks, while comets are rocks and metals. Composed of frozen
gases bound by substances.)

2. DVONY Tonwe MOT NHNRY ﬁcﬁﬁ@ mfﬁs BDTRTALD FOW 200TT,
BRTVICBND o*é’?,sgﬁ 30T WY WG NBNY KDCES TOT TS (If asteroids
are found between the orbits of Mars and Jupiter, Comets are mostly found

between the planets Venus and Mercury.)

3. DRIVFCN NLIWTITINT BHYOINT OBV BLCOATT, PTNON
©07 tPONYY (If comets show a perceptible glowing tail, for asteroids
No such tails)

2eDTIPYNYY TO0IRT TePINed (Which of the above statements are

correct?)



a) 1 3R 2 [0
b) 1 =8 3 5%
c) 3 3398

d)L223

61. FLNTPNYY 0T 23[R’ W03 ©Fee 0IeyTH? (Which of the
following is the main characteristic of ‘'mixed farming’?)

a) mséa% 3¢ 3B YTHT 3F-38 TETBH #@WAOR. (Commercial crop
and food crop- Cultivation of both.)

b) 2,0T3¢ BTG 2,00 WP HYT L&N¥ emod. (Cultivation of one
or more crops on a single plot of land.)

) TBIROT ) FETOR ATEIR, W)W (Doing both animal
husbandry and agriculture)

d) 20edT YT @Y. (None of the above.)

62. YN LOBNYDY, WONesd (Consider the following points)

1. 300D @8 Pedeo (Swidewx”) (Rotation of Earth on its axis)
2. 3030 WIT W) MY (Air pressure and wind)

3. AT Q0T 0T (Density of ocean water)

4. BRN0H ToZRR (BTZOWRT®) (Revolution of the Earth)



DOTIZNTY O30T WOINLY TNT ToHNY 20 TS WeTDT?
(Which of the above factors influence ocean currents?)

a) 1 And 2 Only

b) 1 And 4 Only

c) I, 2 And 3 Only

d) 2, 3 And 4 Only

63. $T3T U%ést%w’“ W0 BDOZ0Z FINTYNYY 03T TEVE/MO TO?
(Which of the following statement/s is/are correct about Laterite soil of
India?)

1. & Zo[IFEoN FOT NI, (It is usually red.)

2. O TTBIT W) BRWYF NTI), WHTN BROLTOIT. (It is rich in
nitrogen and potash.)

3. O cmsm@s 0B ITIWEBNYY 0 WwIdB. (It is found in
Rajasthan and Uttar Pradesh.)

4. TR Y ReEON 33 Y ¥ L3P0I, (Cassava and
cashews grow well in this soil.)

ROOIRT YOZTWY, MT0SA (Select the correct answer)

a) 1, 2 And 3 Only

b) 2, 3 And 4 Only

¢) 1 And 4 Only
d) 2 And 3 Only



64. YN BPTEVT 03T QEBNY L2RCRONTY, 10 BN 23IS BZeRITI?
(Which of the following pair of islands is separated by a ‘10-degree
channel’?)

2) WOTWTRT® ) J8ReT® (Andaman and Nicobar)

b) JBRLPT® ) Y (Nicobar and Sumatra)

¢) BRI W ©F Qe (Maldives and Lakshadweep)

d) AT[PTY ) 230 (Sumatra and Java)

65. 838 T3 OO 53;35 2@;)37?.@06%63? (Turkey is located in the
middle of what?)

a) 33 FWVNT, W) FYACNT FINT, =0T, (Black Sea and Caspian Sea)
b) 3%, FS0E, ST DRWSROH® F=0g, (Black Sea and

-

Mediterranean Sea)

c) RROP® 090 Y DRWTEACNT® FRNT (Gulf of Suez and
Mediterranean Sea)

d) 302 2390 W) W AN, (Kambat Khari and Dead Sea)

66. ISNT SRR LRTST U@%@Oﬁ) 220230 9e3? (Which of the following
1s the national aquatic animal of India?)

a) QU AeTO [pIY (Salt water crocodile)

b) 59z 08 = (Olive Ridley Tortoise)

c) &OoSe* (Gharial)



d) nome wOF® (Ganga Dolphin)

67. YN O3 388 FBReET? (Which of the following is an artificial
lake?)

a) BRFT (SWs0@) (Kodaikanal (Tamil Nadu))

b) ERGedd (s03BTeT) (Kolleru (Andhra Pradesh))

c) $RToe" (vZ00200R) (Nainital (Uttarakhand))

d) e (Smdomnied) (Renuka (Himachal Pradesh)

68. TSTD — WOBRD BO N B TPNI CITow Uaasﬁﬁ@ﬁ FOLORAT.
(The Kalasa-Banduri water dispute is related to which of the following
states.)

a) 3oorwd - 0w e (Karnataka — Andhra Pradesh)

b) szereds — et (Karnataka - Goa)

) IooFr W3 — Fe0Y (Karnataka — Kerala)

d) 3FL3T — BT (Karnataka — Tamil Nadu)

69. QERTS déas T VTR 03 T BT, (In which state is
Simlipal Biological Reserve Forest located?)

a) ST (Tamil Nadu)

b) wwgoesdos (Uttarakhand)

c) 5%@33&07&)@ (West Bengal)

d) %0me (Orissa)



70. I3 Toz, TBRODTVT FTRY TWe3wy (Coastal region of Karnataka
state)
a) 220 km

b) 400 km

¢) 320 km
d) 450 km

71. Tz O &3 FTPNT 030 é’@ﬁﬁ%fmol DEATT ) FORLITTI?
(Which of the following taxes are imposed and collected by the state

government?)
a) 2ITORI 3011 (Entertainment Tax
b) =o00e3 30t (Sales tax)

¢) 0TWoveN 30N (Luxury Tax)

d) 39S AR (All the above)

72. 28 SARRENT WHPITN ©TT mé%%@da 03539309 (Who heads the Niti

aayog as its chairperson?)
a) {0 To®S (President of India)

b) Iges w0 (Prime minister)



c) A W0g (Finance minister)

d) odexTe %W$ET (Minister of planning)

73. 50T $e0% 2T ©FY 0N DT IRE ATITY mORRTIT?

(Who presents the Union Budget of India and in which house?)
a) POTIT JeoTm w0, SeeEx’ (Finance Minister of India Lok
Sabha)
b) $0TBT THOT FN0E; U@%Zaﬁ (Prime Minister of India; Rajya Sabha)
c) @a@éw TONFTEF; SReTRLS B U@&%Saﬁ 2TRH (Cabinet
Secretary; Both Lok Sabha and Rajya Sabha)

d) $P0IT CAFTE; WOREST oL WHHEBZTY (President of India; in

the joint session of Parliament)

74. TOFTOTNTO BTN BRTS H0TTe0? (What is Effective Revenue

Deficit?)

a) 9TT DBFR BRDATT ATFTT BHeoRTYT ERTI (The shortfall

in a government’s income compared with its spending)

b) BFT JRFT DIOD BPTZ ) HOOT MONY eI G
TS0 IR #BF X (Difference between the current year’s fiscal

deficit and interest payment on previous borrowings)



€) STRCD ERTIT BT WORTY SANT FUR OROTRING TS
%%ﬁ (Difference between revenue deficit and grants for creation

of capital assets)

d) REoFr 0T ANE YNFNPN BEOTOA LINTLD FOT, LROFT 0T
FTFO OB NE 00D (Purchase of government bonds by the central

bank to finance the spending needs of the government)

75. WO By BN éaszadmgﬁ? (How does Credit Creation Increase?)
a) 307 INTD eWEFE éag%dﬁ (If RBI increases cash reserve)

b) STWD IR NI WTWIWI)Y, HATT (If RBI increases the

cash reserve ratio)

¢) RBI Sncd oemer ombmegnny, Rk wernd (If RBI reduces

the cash reserve ratio)

d) RBI IR Q0emen 38330 w0833 (If RBI reduces cash reserve)

76. t03TQ SEBI @) o3mmen m@&xmoboéo? (When was SEBI

established in India?)
a) 1992

b) 1985



¢) 1988

d) 1995

77. ATBH ) Aewmw 30N03R0HON 0T 00N, WILRENB? (Goods

& Service Tax replaced which tax?)
a) @R (VAT)
b) @50 30n (Excise Duty)

c) 3eox [ooees 30n (Central Sales Tax)

d) 308 AR (All of the above)

78. 2011 T RIJINE2SCD TTT, LRTTHYT AOTB OF)? (As per the census

2011, what 1s the density in India?)
a) 325
b) 352
c) 372

d) 382

79. 5ROBRY, 85 FINTHNIY IR F0e30H Ve3oDY TRLEIH? (In

India, which one among the following formulates the fiscal policy?)



a) OdnpexTe adween (Planning Commission)

b) Tcewod scdeent (Finance Commission)

C) TEOTR X0 (Ministry of Finance)

d) RBI

80. 83 YN C3WI 50%@0333 DTE DTIRNT [T TTLODT,
FBLdRB3? (Which of the following institutions publishes the report World

Economic Outlook?)
a) IMF
b) RBI
c) World Bank

d) UNCTAD

8. PVTTOR TEONTT 73000 O3V 3NTNTTLIROT? (Who can

&JJ

remove the Vice-President from his office?)
a) 0o TS (President)
)
b) THoS 008 (Prime minister)
¢) BoxZy (Parliament)

d) ToT ZoRTON Be3nsd (Legislative assemblies of the state)



82. B3 FYNT OIRT VHOIN TS W0G DBY VBT WOGNY FeTVSON
OB %ﬁ&@z’pgd? (Which one of the following article deals with the

appointment of the Prime Minister and other ministers?)
a) Article 76
b) Article 74

¢) Article 75

d) Article 72

83. BINTHTY CIPTD AOLEO BRWFET BN, TYODNTRSE I BT
TYOIPEETTTY, Se02T? (Who among the following appoints the Chief

Justice and other Judges of the Supreme Court?)
a) TS @008 (Prime minister)
b) VT m@m (Vice-president)
¢) N® AR (Home minister)

d) cog=e (President)
=

84. 83 FINTPYNYY Re0 BReFFS ©QTT 03wycd? (Which of the

following are the powers of the Supreme Court?)



a) TR TN VTN JONT (Original and Appellate
-0 & m&s D o

Jurisdiction)
b) 3oE0% TYOIRQEIT JexTE (Appointment of ad-hoc judges)
c) Dyodwon D:3E (Judicial review)

d) 20T AR All the above)

85. 3UNT Beosniony FOMCdn. VWYY CIPYE/AZRY(Consider the

following statements. Which among them is/are NOT true?)

L A0 BWEMTH JONTeoN TWITRMDB ToZZ FSNFeNES (Standing
Committees are the permanent committees that are constituted on a regular

basis)

II. 23903 FNENWD F9TyIT BWSNGONTY, THODF TR TIROTIN
émstéofmrbgﬁ (Ad hoc committees are temporary committees that are

dissolved when the task is completed)

[II. ABOBRNRE DS Twzgds Fw3o3®NT (Committee of Privileges is

an ad-hoc committee)

IV. dxm%zﬁ 23S ANON BOWOHAT O3 BRSO3 Ao TN S03RNT

(Joint Committee on Fertilizer pricing is a standing committee)

a) ge=© I =3 IV (Only 1T and IV)

b) ez 1303 11 (Only I and IT)



¢) Fez3© 1 303 111 (Only 1 and 11I)

d) gemo 11 508 IV (Only II and IV)

86. AToFTT FORDEOD FTRTTY XT WRFTTN FeORT,B:NTII
(In a parliamentary form of Government the real powers of the state, are

vested in the)
a) 0o TS (The President)

b) A0 BRetFrS W0, TYoBwSs (Chief Justice of the Supreme

court)

¢) TN Do, NeFTwW oy wwome (Council of ministers headed

by the Prime Minister)

d) "oz (Parliament)

87. YNT CINT STRTR FOONTN TRTIL0D FOITRTT eDTORNTY,
SRNIR &RAI? (Which of the following amendment acts amended the

Preamble of the Indian constitution?)
a) 44 3¢ SNIB W (44th Amendment act)

b) 42 S¢ STHLIR TOWT (42nd Amendment act)

c) 56 J¢ STH/IR Fo0NT (56th Amendment act)



d) |TI), Q00N SRHIR wREURNY (It has never been amended)

88. TOWooNS* %ﬁﬂ@oﬁam& ©YTRATROT evT3ed (The panchayat system

was adopted to)

a) TRPT;NTT VRFTTTTY, RFeoRF0xen (To decentralise the power

of democracy)

b) TozseoNT W} RION WOF [oRe®RY (Make people aware of

politics)
c) E%S@ﬁ $3eo 38 (Educate the peasants)

d) faw%@m ©9® (None of this)

89. 3¢ @’@%éoja ROTLETYONR CINT RROLRT as%ﬁ@m&
BRPIDRRLICNFOY? (Which fundamental rights cannot be suspended

even during an emergency?)
a) BRITEW T (Right to Speech)
b) ToenrE &), (Right to Religion)
¢) ABPITOD HB, (Right to Equality)

d) 2eTT DIy FyoDy @3055:3 %8y, (Right to Life and Personal

Liberty)



90. B3 FYNT CIPH STRTIR FTOWTICR TRVT EPTIT FOLTOZTY
DROLRT FIER[NTEI) Xe0ZRNG? (The Fundamental Duties were
included in the Constitution of India by which of the following

Amendment Act?)
a) 40 J¢ SHIE T (40th Amendment Act)
b) 44 e SHT® TOWT (44th Amendment Act)

c) 43 Je SRIWR FoeNT (43rd Amendment Act)

d) 42 S¢ SWJIR FoNT (42nd Amendment Act)

91. 2023-24 TY ;’E)pd (2011-12) E3SRYY B33 GSDP 0 &0t
B39=e3n 3T F)? (What was the estimated growth of Karnataka’s GSDP
at constant (2011-12) prices in the year 2023-249)

a) 6.6%

b) 10.2%

c) 7.5%

d) 8.7%

92. ¥R WRNT @3‘35@% WTHOH TFT, FIFeITT W03 TR
3eC3o008T BY 03000 ? (According to District Human Development
Report, which is the lowest ranking district in Karnataka?)

a) Raichur



b) Koppal
¢) Yadgiri
d) Vijayapura

93. sor ez 2022-23 00T 2023-24 ééGSDP WTOORT FENT 0303
TePTORD [OOH FOC3PEHRFONT), YN VB[ORZT (Which of the
following statements best describes the sectoral composition change of
GSDP in Karnataka from 2022-23 to 2023-249)
a) DY TSN TPENODNY TYY FomoeolsS (There was an increase
in the contribution of all sectors)
b) %c?») DB %m@m TOCLNY ZRWNR TREDONT, e TOONT
Bemn N (Agriculture and Industrial sectors decreased, while

the Services sector increased)

c) ooT BOOD B[R, I, TRWNRONTY), TBAT (Only the Industrial
sector increased its contribution)
d) oep 3e3ne ZRWRONY B9T 50wWonT. (There was a decrease in

the contribution of all sectors)

94. 2011 T RINEO0D TFOT FTVF LT3 TRENVCED TOTTIOD TE[IED AT?
(What is the rural literacy rate in Karnataka according to 2011 Census?)

a) 59.60%

b) 68.86%
c) 65.46%



d) 63.00%

95. 2022-23 TY CIBH VY ©IOT D TR STODTI), BROVT?

(Which of the follwwing district has lowest per capita incone in 2022-239)
a) Wewo’(Bidar)
b) sowns(Kalaburgi)
c) o3TNO(Yadgiri)

d) eI¥(Koppal)

96. 2022-23 T ©HFT JIRFTY, LonEeD INT BYE TFWS HSSNEY
TIOFWIT i) Doy Tedeod wv3TT (GSDP) Jezmosedd O WO
DeB3? (As of the fiscal year 2022-23, Bengaluru Urban district
contributes what percentage to Karnataka’s Gross State Domestic Product

(GSDP) at current prices?)
a) 4.0%
b) 37.8%
c) 5.5%

d) 10.2%



97. BRW ARWOFY CTT DRGENY BSNYIT  WBRTBRIN é?ﬁ%
moﬁ&mﬁmgd? (which index is more sensitive to changes in prices of food

items?)
a) Wholesale Price Index (WPI)
b) Consumer Price Index (CPI)
c) Rural Retail Price Index (RRPI)

d) Urban Retail Price Index (URPI)

98. (NREGA %000F38r 3¢ TOTINTHYE SRENNTDY, degmon SwWe)s
N EBOOT, I 2 OIDTIIY TRToRIUING? With an objective of
preventing non-communicable diseases among NREGA laborers at an early

stage, which of campaigns have been launched?)
a) oD eszﬁ.racr% 9PORT (Gram Arogya’ campaign)
b) ITero sBeen, ©RIPT (NREGA Arogya’ campaign)
c) CE%@OSD mgedece dwery XD (National rural health mission)

d) 3moFess wdwery, R3S (Karnataka Arogya’ campaign)



99. 3RFWITY &5 FINTIJYNYY OINT T VWT WFFTTINTRT?

(Which of the following is major consumer of elecricity in karnataka?)
a) mﬁa% WEICT (Commercial users)
b) & TOX® AENW (Agricultre pump sets)
C) T3e5e0 W$FHTT (Domestic users)

d) MSME m©od (MSME sector)

100. 3eRe0 TTRFWT JTeT VRFQ WOBPOD T[red 380 QTP (The

head quarter of Kalyana Karnataka area development Board located at)
a) 3oooh (Kalaburagi)
b) 2¥0 (Ballry)
¢) 2donwedd (Bangalaore)

d) TocnEBRTL (Raichur)



